

6-2 day 2 Integration by u-Substitution

Learning Objectives:

I can evaluate an integral using u-substitution.

Ex1. Evaluate

1.) $\int (2x+1)^5 dx$

$$\int u^5 \frac{du}{2}$$

$$\frac{1}{2} \int u^5 du = \frac{1}{2} \cdot \frac{1}{6} u^6 + C$$

$$\frac{1}{12} u^6 + C$$

$$\boxed{\frac{1}{12} (2x+1)^6 + C}$$

$$u = 2x + 1$$

$$\frac{du}{dx} = 2$$

$$du = 2 dx$$

$$dx = \frac{du}{2}$$

$$2.) \int \sqrt{3x+8} dx \quad U=3x+8$$

$$\frac{dU}{dx} = 3 \quad dx = \frac{dU}{3} \quad \frac{1}{3} \int \sqrt{U} dU$$

$$\frac{1}{3} \cdot \frac{2}{3} U^{3/2} + C \quad \frac{2}{9} U^{3/2} + C$$

$$\frac{2}{9} (3x+8)^{3/2} + C$$

$$3.) \int \sin\left(3x + \frac{\pi}{2}\right) dx$$

$$u = 3x + \frac{\pi}{2} \quad \frac{du}{dx} = 3 \quad dx = \frac{du}{3}$$

$$\int \sin u dx \quad \frac{1}{3} \int \sin u du$$

$$\frac{1}{3} \cdot -\cos u \quad -\frac{1}{3} \cos\left(3x + \frac{\pi}{2}\right) + C$$

$$4.) \int x \sqrt[3]{2x^2 + 5} dx \quad \int x \cdot \sqrt[3]{2x^2 + 5} dx$$

$$\int x (2x^2 + 5)^{\frac{1}{3}} dx \quad u = 2x^2 + 5$$

$$\frac{du}{dx} = 4x \quad dx = \frac{du}{4x} \quad \int x \cdot u^{\frac{1}{3}} \frac{du}{4x}$$

$$\frac{1}{4} \int u^{\frac{1}{3}} du \quad \frac{1}{4} \cdot \frac{3}{4} u^{\frac{4}{3}} + C$$

$$\frac{3}{16} (2x^2 + 5)^{\frac{4}{3}} + C$$

$$5.) \int (3x^2 + 6x + 2)^2 (x+1) dx \quad u = 3x^2 + 6x + 2$$

$$\frac{du}{dx} = 6x + 6 \quad dx = \frac{du}{6x+6}$$

$$\int u^2 (x+1) dx \quad \int u^2 \cancel{(x+1)} \frac{du}{6\cancel{(x+1)}}$$

$$\frac{1}{6} \int u^2 du \quad \frac{1}{6} \cdot \frac{1}{3} u^3 + C \quad \frac{1}{18} (3x^2 + 6x + 2)^3 + C$$

$$6.) \int \frac{3x-4}{3x^2-8x+3} dx \quad \int \frac{1}{3x^2-8x+3} \cdot (3x-4) dx$$

$$\int (3x^2-8x+3)^{-1} \cdot (3x-4) dx$$

$$\int u^{-1} \cdot \cancel{(3x-4)} \frac{du}{2\cancel{(3x-4)}} \quad \begin{aligned} u &= 3x^2-8x+3 \\ \frac{du}{dx} &= 6x-8 \\ dx &= \frac{du}{2(3x-4)} \end{aligned}$$

$$= \frac{1}{2} \int u^{-1} du$$

$$\frac{1}{2} \ln|u| + C$$

$$\frac{1}{2} \ln|3x^2-8x+3| + C$$

$$8.) \int \cos^2(2x) \sin(2x) dx$$

$$\int u^2 \cdot \sin(2x) \frac{du}{-2\sin(2x)}$$

$$-\frac{1}{2} \int u^2 du$$

$$-\frac{1}{2} \cdot \frac{1}{3} u^3 + C$$

$$-\frac{1}{6} u^3 + C$$

$$-\frac{1}{6} \cos^3(2x) + C$$

$$u = \cos(2x)$$

$$\frac{du}{dx} = -2\sin(2x)$$

$$dx = \frac{du}{-2\sin(2x)}$$

$$9.) \int_e^{e^3} \frac{\ln x}{x} dx$$

$$\int_e^{e^3} (\ln x)' \cdot \frac{1}{x} dx$$

$$u = \ln x$$

$$\frac{du}{dx} = \frac{1}{x}$$

$$x du = dx$$

$$\int u' \cdot \frac{1}{x} \cdot x du$$

$$\int u du$$

$$= \frac{1}{2} u^2$$

must change back to "x" b/c the limits are $x=e$ to $x=e^3$

$$= \frac{1}{2} (\ln x)^2 \Big|_e^{e^3}$$

$$= \frac{1}{2} (\ln e^3)^2 - \frac{1}{2} (\ln e)^2$$

$$= \frac{1}{2} (3)^2 - \frac{1}{2} (1)^2$$

$$= \frac{1}{2} (9) - \frac{1}{2} = \frac{9}{2} - \frac{1}{2} = \frac{8}{2} = \boxed{4}$$

OR

instead of changing the variable back to x , you can change the limits to "u".

$$\int_1^3 u \, du$$

$$\frac{1}{2} u^2 \Big|_1^3$$

$$u = \ln x$$

$$\text{limits } \left\{ \begin{array}{l} x = e^3 \Rightarrow u = \ln e^3 \\ u = 3 \\ x = e \Rightarrow u = \ln e \\ u = 1 \end{array} \right.$$

by "u" limits
If the \int is
in terms of "u"
the limits must

$$\frac{1}{2} (3)^2 - \frac{1}{2} (1)^2$$

$$\frac{9}{2} - \frac{1}{2} = \boxed{4}$$

Ex2. If you use the u-substitution $u=\ln x$, which of the following integrals is

equivalent to $\int_e^{e^3} \frac{\ln x}{x} dx$

a.) $\int_e^{e^3} u du$

b.) $\int_1^3 u du$

c.) $\int_e^{e^3} \frac{1}{u} du$

d.) $\int_1^3 \frac{1}{u} du$

e.) $\int_e^{e^3} \ln u du$

Homework

pg 337 # 18, 20, 24, 25, 27, 28, 33,
35, 37, 38, 40, 41, 44, 47, 49, 53, 58,
65, 66, 71, 73, 74, 76